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commandwindow
clear
clc
format long g
elizabeth=xlsread('mathsassign6')
t=elizabeth(:,1)
d=elizabeth(:,2)
d=log(d)
[xr xc]= size(t)
t0=ones(xr, 1)
t1=[t0,t]
izokpu=regress(d,t1)
f0=izokpu(1)
f1=izokpu(2)
micro= exp(izokpu(1))
milli=exp(izokpu(2))
ysim=f0+(f1*t)
r_val=corr(d, ysim)
r_sqr=(r_val)^2

Answers 

elizabeth =

           0           2
           1           5
           2          19
           3          50
           4         151
           5         470
           6        1435
           7        4512
[bookmark: _GoBack]           8       12936
           9       41125
          10      111021


t =

     0
     1
     2
     3
     4
     5
     6
     7
     8
     9
    10


d =

           2
           5
          19
          50
         151
         470
        1435
        4512
       12936
       41125
      111021


d =

         0.693147180559945
           1.6094379124341
          2.94443897916644
          3.91202300542815
          5.01727983681492
           6.1527326947041
          7.26892012819372
           8.4144957931779
          9.46776940125694
          10.6243714880677
          11.6174746515896


xr =

    11


xc =

     1


t0 =

     1
     1
     1
     1
     1
     1
     1
     1
     1
     1
     1


t1 =

     1     0
     1     1
     1     2
     1     3
     1     4
     1     5
     1     6
     1     7
     1     8
     1     9
     1    10


izokpu =

         0.633465152361569
           1.1046177162803


f0 =

         0.633465152361569


f1 =

           1.1046177162803


micro =

           1.8841280715276


milli =

          3.01807048903391


ysim =

         0.633465152361569
          1.73808286864186
          2.84270058492216
          3.94731830120246
          5.05193601748275
          6.15655373376305
          7.26117145004335
          8.36578916632364
          9.47040688260394
          10.5750245988842
          11.6796423151645


r_val =

          0.99984483235763


r_sqr =

         0.999689688792257

>>
